é ‘ﬁ fb g Prozente der Dezimalstellen berechnen

Name: Datum: Ergebnis:
4, 82 x 40% = 0,64 x20% =
3,99 x 80% = 4,32 x10% =
4,95 x 20% = 3,9 % 50% =
1,53 x70% = 2,01 x70% =
1,85 x 80% = 2,4 x50% =
3,84 x40% = 9,89 x 50% =
7,72 x 80% = 5,7 %x40% =
9,47 x 60% = 8,67 x 90% =
7,9 x50% = 8,7 % 10% =
4,44 x 40% = 6,92 x 30% =
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Prozente der Dezimalstellen berechnen

Name:

4,82 x 40% = 1.928

3,99 x 80% = 3.192

4,95 x20% = 0.99

1,53 x70% = 1.071

1,85 x 80% = 1.48

3,84 x40% = 1.536

7,72 x 80% = 6.176

9,47 x 60% = 5.682

7,9 % 50% = 3.95

4,44 x 40% = 1.776

Datum:

0,64 x20% = 0.128

4,32 x 10% = 0.432

3,9 x50% = 1.95

2,01 x70% = 1.407

2,4x50%=1.2

9,89 x 50% = 4.945

5,7%x40% = 2.28

8,67 < 90% = 7.803

8,7 x10% = 0.87

6,92 x 30% = 2.076

www.snowmath.com

Ergebnis:



https://www.snowmath.com

